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Unit One
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2. BEATROE BRSSP AERRE LR,
1) My brother (interest) in music.
2) Once or twice he (disagree) gently with his wife.
3) The two friends had (communicate) with each

1
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5)

6)
7

8)

9)

other for many years.

They described how the (pattern) of English have

changed and developed in the past six centuries.

The monkeys are (enough, intelligent) to mimic

some human actions.

This radio set (guarantee) for twelve months.

Although much richer now, they are still leading a
(simply) life.

Instead of (wait) for their mother, they prepa.md the

meal themselves.

Hard work will not guarantee (successful) for

everyone.

10) I'm quite (will) to consider your proposal.

RBUTIEBERFERHER.

1)

2)

3)

4)

5)

You will never be able to enter that university you get
very high scores in the entrance examination.
Alif B. until C. unless D. otherwise
the interruption, he was able to finish hie
homework on time.
A.Evenif B.Insteadof C.Becauseof D.In spiteof
On in London, Mr. Wang went to visit the British
Museum.
A. coming B.arriving C.reaching  D. getting
The general election was round the comner, and he began to dream
the prime minister.
A. of becoming B. in becoming
C. to become D. with becoming
Ateacher __ favor some children more than others.
A. doesn’t B. mustn’t
C.don't D. doesn’t have to



6) You can’t possibly finish the work all yourself.

A. with B. along C.in D. by
7) Ttumed the record to see what was on the
other side.
A. off B.in C.down D. along
8) A short stick has got into the machine, That’s is
wrong with it.
A. which B. what C.that D.one
9) Thepriceistoo high,and __ - | the house isn't in a suitable
position.
A.moreover  B.however C.otherwise D.though
10) Iwonderwhowill __ ~  as secretary of our club next
year.

A. take up B. take on C. take over  D. take to

THEAGTFREM TR NARFEREHIFLL A, B, C. D,
HpH— A R#EN. IRHAVERRZ 4.
1)  Is this the factory where you visited last week?
A B C D
2) The world’s prosperity requires that wealthy nations are willing
A B
to share their wealth with less fortunate ones.
C D
3) People complain that the costs of establishing an office are
A B
50 much that only the rich can afford running for office.
(& D
4) Had Dickens foresaw that his novel would cause such a
A B
commotion, he would not have written it.
C D



5) [Ifall ingredients are mixed properly, the soup should taste

A B v C
seliciously.
D
5 FEEE.

FEFX=BJEX, BBEXRIA=2EMNE, 3ti-Eh
. SHENEEA AR, REFADERDERE.

Passage 1

How often one hears children wishing they were grown up, and old
people wishing they were young again. Each age has its pleasures and its
pains, and the happiest person is the one who enjoys what each age gives
him without wasting his time in useless regrets.

Childhood is a time when there are few responsibilities (51{F) to
make life difficult. If a child has good parents, he is fed, looked after and
loved, whatever he may do. It is impossible that he will ever again in his life
be given so much without having to do anything in return. In addition, life
is always presenting new things to the child — things that have lost their
interest for older people because they are too well-known. But a child has
his pains: he is not so free to do what he wishes to do; he is continually
being told not to do things or being punished for what he has done wrong.
When the young man starts to earn his own living, he can no longer expect
others to pay for his food, his clothes, and his room, but has to work if he
wants to live comfortably. If he spends most of his time playing about in the
way that he used fo as a child, he will go hungry. And if he breaks the laws
of society as he used to break the laws of his parents, he may go to prison. If,
however, he works hard, keeps out of trouble and has good health, he can
have the great happiness of building up for himself his own position in
society. :

4



1) ~ According to the second paragraph, the writer thinks that

A. life for a child is comparatively easy

B. a child is always loved whatever he does

C. if much is given to a child, he must do something in return
D. only children are interested in life

2)  Afterachild grows up, he
A. will have little time playing
B. has to be successful in finding a job
C, can still ask for help in time of trouble
D. should be able to take care of himself

3) The main idea of the passage is
A. life is not enjoyable since each age has some pains
B. young men can have the greatest happiness if they work hard
C. one is the happiest if he can make good use of each age in his life
D. childhood is the most enjoyable time in one’s life

Passage 2

In 1945, a new type of acroplane engine (5| %) was invented. It was
much lighter and more powerful than earlier engines, and enabled war
planes to fly faster and higher than ever. This type of engine was called the
jet engine because it blows a large jet (WE51) of hot air backwards at high
speed,

The first airliner to use the new jet engines-was buiit in Britain, and it
began carrying passengers in 1952. It had two jet engines and flew much
higher than gas-engined airliners  (Z54/l) . At this height, the airis thinner
and very cold, and so the aeroplane can cut through the air more easily.

5



There are no clouds to disturb the flight of the airliner, and rain and
thunderstorms are far below it. The sky above is a brilliant (£ #&]) blue.

However, because the air is so cold and thin, the cabin has to be air-

conditioned and has to be at normal pressure so that the passengers may eat,
read and sleep in comfort.

Today, all long distance airliners have jet engines. The modemn jet

airliners are very big and carry as many as 300 passengers on two different
floors. In this way, air travel can be made much cheaper. Tomorrow's
airliners will be flying at over twice the speed of today's airliners.

4)

5)

6)

7).

The jet engine was invented during the Second World War and was
first used in

A. airliners B. rockets
C. war planes D. passenger planes

The jet aeroplane can cut through the air more easily because

A. it has two jet engines

B. its cabin is air-conditioned

C. the air is thinner and colder high up in the sky
D. it is strongly built

Thcpasscngcrsmmodemjetairlimcaneat.readandsleep in
comfort because ;

A. the cabins are kept at normal

B. the cabins are kept warm

C. the cabins ar¢ air-conditioned and at normal pressure

D. the cabins are divided into two parts

Tomorrow's airliners will be flying at over twice the speed of



A. today’s jet airliners

B. a space rocket

C. today's fastest war planes
D. ordinary planes

Passage 3

Overhead (#5%2ff1) bridges are found in many parts of Singapore,
especially in places where traffic is very heavy and crossing the road is
dangerous.

The purpose of these bridges is to enable pedestrians (1T A) to cross
roads safely. Overhead bridges are used in very much the same way as
zebra crossings. They are more efficient although less convenient because
people have to climb up a long flight of steps. This is inconvenient
especially to older people. When pedestrians use an overhead bridge, they
do niot hold up traffic. However, when they cross a busy road using a zebra
crossing (JF S £8), traffic is held up. This is why the govemnment has built
many overhead bridges to help pedestrians and to keep traffic moving at the
same time.

The government of Singapore has spent large sums of money building
these bridges. For their own safety pedestrians should be encouraged to use
them instead of risking (H--[IfEfE) their lives by dashing across the
road. Old people, however, may find it a little difficult climbing up and
down the steps, but it is still much safer than walking across the road with
all the danger of moving traffic.

Overhead bridges serve a very useful purpose. Pedesmans both old
and young, should make it a habit to use them. This will prevent
unnecessary accidents and loss of life.

8) The advantage of overhead bridges is that
A. they are higher



9

10)

B. they do not hold up traffic and are safer for pedestrians

'C. pedestrians can see traffic better

D. they are more convenient to use

Overhead bridges are built
A. for heavy traffic
B. for the safety and convenience of drivers

C. for the safety of pedestrians
D. to help traffic '

According to the passage, what do the old people think of the
overhead bridges?

A. They like the idea of building overhead bridges.

B. They have no difficulty using overhead bridges.

C. They find overhead bridges somewhat inconvenient to use.

D. They think overhead bridges are too expensive t0 use.

SEIRE

Many of you are studying English and you may be wondering
why it is so difficult to leam. It is actually not that __1_ difficult to
jearn 2 you know some basic facts about the language and the
culture it reflects ¢ SZi#R) .

Perhaps the first thing you need 3 about English is that it
is__4 _upof several other languages such__ 5  French, German,
Latin, Greek ___ 6 Anglo-Saxon. In addition, there are words ___7
Spanish in English and many American Indian words and names;
even some Chinese and Japanese _ 8 have found their way into the
English language. This borrowing of words from other languages
is__ 9  of the key reasons for some of the difficulties that people
meet with __10 __ they are learning English.



1) A.too B. much C.so D. such
2) A. until B. once C. since D.as

3) A know B.knowing C.toknow  D.known
4) A.make B. making C. maked D. made

5) A.as B. for C. that D. was
6) A.also B. and C. but D. yet

7y A.for B.in C. from D. 1o

8) A.names B. nouns C. places D. words
9) A.a B. an C. any D. one
10) A. when B. that C. which D. since
TR ESCRRIUE.

Miss Green was very fat. She weighed 100 kilos, and she was
getting heavier every month, so she went to see her doctor.

The doctor said, “You need a diet, Miss Green, and I've got a
good one here.” He gave her a small book and said, ‘Read this
carefully and eat the things listed on page 11 every day. Then come
back and see me in two week’s time.’

Miss Green came again two weeks later, but she wasn't thinner;
she was fatter. The doctor was surprised and said, ‘Are you eating the
things listed on page 11 of the small book?’

*Yes, doctor,’ she answered.

The next day the doctor visited Miss Green during her dinner.
She was very surprised to see him.

‘Miss Green,’ he said, ‘why are you eating potatoes and bread?
They aren’t in your diet.’

‘But, doctor,” Miss Green answered. ‘I ate my diet at lunch time.
This is my dinner.”

T KT RRIGE.
1) MRIEFFEIF LIV SMRXHES .
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Unit Two
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1)
2)
3)
4)
5)
6)
7
8)
9)
10)
1)
12)
13)
14)
15)
16)
17
18)
19)
20)

Bliak; Xf---GEBL
e, EX
AE,
R

i, #WIl R
EHKE, SR
Btk BA%
s ks e
WAE, BErE B
ENIEH T

2oyt AWl BERHD
ik, Fhik: AR
BN, B
ANk, TSR
B, SRR
KEEM: RN
fltivt, st

BEHE, 8%

AEE| A, FIEERN  a

n./vi.

BB TR BEES PR ERE SR,
1) The price of meat

2) The hotel
3) Twas

(vary) from day to day.

(charge) me ¥ 50 for a room for the night.
(confuse) by their conflicting advice.
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